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Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.

Question 1: There is an increasing demand for cars that are more ______ on fuel.
A. economic

B. economics

C. economical

D. economy
Question 2: I think that you are telling me a lie, _______?
A. doesn’t it

B. does it

C. aren’t you

D. are you
Question 3: We had the opportunity to expand, but we were complacent and missed the ______.
A. ship


B. boat


C. yatch

D. raft
Question 4: Clearing forests for timber has resulted_______the loss of biodiversity.
A. with


B. at


C. in


D. for
Question 5: The government has made a serious attempt to raise the 
of living.
A. cost


B. standard

C. mode

D. level
Question 6: Some workers are so poor that they can't quit their jobs _____ they are ill-treated.
A. since


B. though

C. despite

D. because

Question 7: She is doing extremely well in her ______ graduate course.
A. intensive one -year English


B. one -year English intensive
C. intensive English one-year


D. English intensive one-year
Question 8: I don’t think Peter is ______ to be a manager because he is an irresponsible person. 

A. cut out


B. cut down

C. cut across

D. cut off

Question 9: I_______ along the street when I suddenly heard footsteps behind me.
A. was walking

B. am walking

C. walk

D. walked
Question 10: By the time you finish cooking they ________ their homework.
A. will have finished
B. will finish

C. had finished
D. have finished
Question 11: Population explosion seems to surpass the ability of the earth to ______the demand for food.
A. make


B. need

C. have

D. meet
Question 12: Can I_____your brain for a moment? I can't do this crossword by myself.
A. use


B. have

C. mind

D. pick
Question 13: A large amount of radioactivity ______ into the environment last week. 
A. release


B. releases

C. was released
D. were released
Question 14: ______, I quickly jumped up and down to call her name.

A. Seeing her from a distance 


C. Have seen her from a distance                   

B. He saw her from a distance


D. He had seen her from a distance

Question 15: _______ the writer is, _______ his works are.
A. More famous / popular  


B. The more famous / more popular  
C. Famous / more popular  


D. The more famous / the more popular    
Mark the letter A, B, C, or D to indicate the sentence that best completes each of the following exchanges.
Question 16: Henry is talking to David in city centre.
David: It seems like you’re new to this place. Do you need any help?

Henry: ______. Do you know any convenient stores near here? 

A. My pleasure.




B. It’s so kind of you.
C. No worries.




D. Don’t mention it.

Question 17: Nam is very worried because he has broken the window of his classroom.
Nam:  I am so sorry about the broken window on the second floor. 
Mr Pike: _______
A. Can you give me details of what happened? 
B. You can do window-shopping around here. 
C. Never mind. You should be able to do that. 
D. Don’t worry. I will get the door fixed soon.
Mark the letter A, B, C, or D to indicate the word that differs from the other three in the position of the primary stress in each of the following questions.

Question 18: A. engineer

B. etiquette

C. picturesque

D. cigarette


Question 19: A. sentence

B. suggest

C. species

D. system
Mark the letter A, B, C, or D to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

Question 20: A. reduced

B. addicted

C. distributed

D. deleted
Question 21: A. promise

B. device

C. surprise

D. realize

Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions. 

Question 22: People will also change physically, along with mentally. For instance, there will be an increase in both height and longevity, among people in general.


A. lastingness
B. durability
C. life expectancy

D. endurance
Question 23: The way the care-taker treated those little children was deplorable. She must be punished for what she did.

A. respectable
B. unacceptable
C. mischievous

D. satisfactory
Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Question 24: The mountainous region of the country is thinly populated. It has only 300 inhabitants.

A. sparsely
B. greatly
C. densely
D. largely
Question 25: 1 was kept in the dark about the birthday party they are going to hold for me next week. I am very thankful for all their efforts to make me feel happy.
A. surprised
B. aware of
C. oblivious to
D. disappointed
Mark the letter A, B, C, or D to indicate the sentence that best combines each pair of sentences in the following questions.

Question 26: Laura practised playing the instrument a lot. She could hardly improve her performance.

A. Hardly had Laura practised playing the instrument a lot when she could improve her performance.

B. Had Laura practised playing the instrument a lot, she could have performed much better.

C. However much Laura practised playing die instrument, she could hardly perform any better.

D. As soon as Laura practised playing the instrument a lot, she could perform much better.

Question 27: John cannot see off his sister at the airport. He has been seriously ill.
A. John’s sister wishes he hadn’t been seriouly ill so that he couldn’t see her off at the airport.

B. As long as John could see his sister off at the airport, he couldn’t be seriously ill.
C. If John hasn’t been seriouly ill, he can see off her sister at the airport.
D. If only John hadn’t been seriously ill in order that he could see off his sister at the airport.
Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the following questions.

Question 28: My mother often overlooked our mistakes, whereas my father is very strict and punishes us for even the slightest one.

A. overlooked

B. mistakes

C. strict

D. punishes
Question 29: Mary and Mark invited his parents to see their new apartment.
A. and


B. invited

C. his


D. to see
Question 30: You'll need to be a little more imaginable if you want to hold their attention.
A. need to 


B. a little

C. imaginable

D. hold

Mark the letter A, B, C, or D to indicate the sentence that is closest in meaning to each of the following questions.

Question 31: It's not necessary for him to go to school on Saturdays. 



A. He doesn’t go to school on Saturdays.

B. He won’t go to school on Saturdays. 
C. He doesn’t have to go to school on Saturdays.
D. He couldn’t go to school on Saturdays.

Question 32: “I have something for your birthday,” Jack said to Mary.
A. Jack told Mary I had something for her birthday.

B. Jack told Mary I had something for his birthday. 

C. Jack told Mary he had something for her birthday. 

D. Jack told Mary he had something for his birthday.

Question 33: It is my first time seeing a panda in person. 
A. It was the first time I had seen a panda in person. 

B. It is the first time I have seen a panda in person. 

C. I haven’t seen a panda in person. 

D. I saw a panda in person last month. 

Read the following passage and mark the letter A, B, C, or D to indicate the correct word or phrase that best fits each the numbered blanks.

Preschool offers many benefits. It can be a great place for kids to interact with peers and learn valuable life lessons such as how to share, take turns, and follow rules. But going to preschool does come with (34)______ emotions, for both the parent and the child. For a child, entering a new preschool environment (35)______ is filled with unfamiliar teachers and kids can cause both anxiety and excitement. Parents might have mixed emotions about whether their child is ready for preschool.
When you enter the classroom on the first day, calmly reintroduce the teacher to your child, then step back to allow the teacher to begin (36) ______ a relationship with your child. Your endorsement of the teacher will show your child that he or she will be happy and safe in the teacher’s care.
If your child clings to you or refuses to participate in the class, don’t get upset — this may only upset your child more. Always say a loving goodbye to your child, but once you do, leave (37)______. Don’t sneak out. Leaving without saying goodbye can make kids feel abandoned. A long farewell, (38) ______, might only reinforce a child’s sense that preschool is a bad place.

 (Source: https://kidshealth.org)
Question 34: 
A. another
B. some
C. much
D. others
Question 35: 
A. who
B. why
C. which 
D. where
Question 36: 
A. forming
B. creating
C. having
D. showing

Question 37: 
A. slowly
B. suddenly
C. leisurely
D. promptly
Question 38: 
A. besides
B. on the other hand
C. although
D. furthermore
Read the following passage and mark the letter A, B, C, or D to indicate the answer to each of the question.

Where smart cities were once regarded purely as a vision of the future, they are now becoming a reality in numerous urban centres across the globe. From Dubai, Singapore, Amsterdam, Copenhagen, and Madrid to Southampton in the UK, we’re already beginning to see smart cities provide inhabitants with improved living conditions, easier mobility and cleaner, safer environments, by using cloud computing to power services. But as with all public sector initiatives, smart city services need to be delivered as cost effectively as possible to minimise the taxpayer burden. Often, key decision makers are met with obstacles when it comes to deploying smart services, preventing smart cities initiatives from reaching their full potential – or worse, blocking them altogether.
Central to the functioning of most ‘normal’ city ecosystems is the underlying data they run on. Regardless as to whether that data is stored on local servers or using cloud storage, when that data is fragmented or incomplete, identifying emerging trends for strategic planning and cost reduction becomes extremely difficult – and because of this, authorities have to adopt an entirely reactive approach. Conversely, in a smart city environment, connected sensors forming an Internet of Things (IoT) provide valuable data for analysis and, in turn, insight into the specific city’s behavioural trends. With this level of information, services can be optimised to reduce costs and risk, increase urban flows and manage assets. Importantly, they can also provide real-time connections and interactions between the city’s businesses, local governments, service providers and citizens.
In this way, operations and services are elevated through the integration and connection of physical devices via IoT networks, ultimately transforming how a city runs.

(Source: https://www.techradar.com/)
Question 39: Which best serves as the title for the passage?


A. A question of data.
B. Alignment of minds.


C. Smart city’s supporters.
D. The same old route.

Question 40: According to paragraph 1, which statement is TRUE about the current situation for smart cities?


A. Smart cities promise technological convenience so high service fees are not a problem.


B. Dubai, Amsterdam and Hampton are among the cities advancing the title of “smart”.


C. There still exist many challenges for the institution and development of smart cities.

D. The already successful smart city in the world were the works of policy-makers.

Question 41: The word “they” in paragraph 2 refers to _______.


A. environments
B. ecosystems
C. services
D. initiatives

Question 42: According to paragraph 2, what is the matter that the author want to emphasise?


A. Human’s urge to share information.
B. The importance of data network.

C. The possibilities of tech disasters.
D. The caliber of artificial intelligence.

Question 43: The word “elevated” in paragraph 3 can be replaced by ______.


A. demoted
B. controlled
C. dignified
D. upgraded
Read the following passage and mark the letter A, B, C, or D to indicate the answer to each of the question.

Once restricted to space stations and satellites, photovoltaics are now gaining popularity and becoming an increasingly viable option. Every day, the sun releases an enormous amount of energy, far more than the entire population consumes. Being that the sun is a sustainable, renewable, and inexhaustible source for generating electricity, not using it seems almost counter-intuitive, especially considering the social and environmental impacts of other forms of energy generation. But the technology to create electricity from the sun is by no means simple and still has some limitations, the most significant being price.

The process of turning the sun’s rays into electrical energy all starts in the so-called photovoltaic cell. These cells are produced with two chemically altered silicon layers of which one is missing elections and the other is electron-overloaded. When the photons from the sunlight reach the surface, these electrons gain the ability to move, generating a flow that creates an electric current. Each cell generates a small amount of energy and a panel is usually made of between 36 and 72 photovoltaic cells. By connecting several panels together, a photovoltaic system is created. Eight to ten panels is enough to power a small house. Evidently, however, this statistic is influenced by some factors, such as the efficiency of the panels, the amount of sunshine in the region, and the energy demand of the residence itself.

Importantly, photovoltaic solar panels produce electricity in the form of direct current, meaning the electricity must pass through an inverter to transform it into alternating current - which is what is normally used in buildings, appliances, sockets, and light bulbs.

Photovoltaic systems can facilitate energy generation in remote locations where infrastructural networks do not reach. In these cases, the system uses batteries to store electricity when less energy is used than is consumed, such as at night or on very cloudy days. However, it is also possible to use photovoltaics in systems connected to the power grid. In these cases, the excess energy goes to the electricity grid, creating energy “credits” for the building in question. In some countries, it is even possible to sell surplus energy, making the building a power plant for neighbors and method of paying off the investment more quickly.

(Source: https://www.archdaily.com/)
Question 44: Which best serves as the title for the passage?


A. How does photovoltaic energy work?

B. Can solar power shake up the energy market?


C. What are some solar panel types?

D. Advantages and disadvantages of solar energy.

Question 45: The word “viable” in paragraph 1 is closest in meaning to _______.


A. logical
B. thinkable
C. feasible
D. believable

Question 46: According to paragraph 1, why is overlooking solar energy considered such a mistake?


A. The sunlight that reaches the ground consists of nearly 50 percent visible light in total.


B. Fossil fuels coal, petroleum, and natural gas are becoming more and more expensive.


C. Concurrent with an increase in solar panel efficiency, the cost of solar energy has fallen substantially.


D. The Sun bathes the Earth hourly with enough light to fulfill global needs for a whole year.
Question 47: The word “surplus” in paragraph 4 is closest in meaning to _______.


A. extra
B. backup
C. waste
D. unneeded

Question 48: The word “it” in paragraph 3 refers to _____.


A. panel
B. electricity
C. inverter
D. surface

Question 49: Which of the following statements is TRUE, according to the passage?


A. Solar energy has one limitation is that it cannot overcome geographical barriers.


B. A single photovoltaic panel is designed to be made of between 16 and 20 cells.


C. A solar inverter uses AC electricity from the solar system to create DC electricity.


D. Solar energy is a renewable, non-polluting and available planet-wide source.
Question 50: Which of the following can be inferred from the passage?


A. Over the next decade, solar panels will be installed almost ubiquitously across urban areas.


B. The rapid proliferation of solar power globally has led to growth in several related areas.


C. Solar energy offers many benefits that make it one of the most promising energy forms.

D. Solar energy is an emerging principle that has recently been developed by scientists.

ĐÁP ÁN

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	C
	C
	B
	C
	B
	B
	A
	A
	A
	A

	11
	12
	13
	14
	15
	16
	17
	18
	19
	20

	D
	D
	C
	A
	D
	B
	A
	B
	B
	A

	21
	22
	23
	24
	25
	26
	27
	28
	29
	30

	A
	C
	B
	C
	B
	C
	D
	A
	C
	C

	31
	32
	33
	34
	35
	36
	37
	38
	39
	40

	C
	C
	B
	B
	C
	A
	D
	B
	A
	C

	41
	42
	43
	44
	45
	46
	47
	48
	49
	50

	B
	B
	D
	A
	C
	D
	A
	B
	D
	C


Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.

Question 1: Đáp án đúng là:  C. economical

Về ngữ pháp, từ cần điền là một tính từ, do đó đáp án “economic” hoặc “economical” phù hợp.

Về nghĩa, đáp án “economical” (tiết kiệm) phù hợp trong câu này. 

economic (adj): thuộc về/ liên quan tới kinh tế

economics (n): môn kinh tế học

economical (adj): tiết kiệm

economy (n): nền kinh tế

Question 2: Đáp án: C

Mệnh đề chính sử dụng mệnh đề phụ tân ngữ sau “I think” => Phần láy cấu tạo theo mệnh đề tân ngữ: chủ ngữ là “you”, động từ chia ở hiện tại tiếp diễn thể khẳng đinh => phần láy dùng phủ định

Question 3: Đáp án: B. boat

- miss the boat: lỡ cơ hội

Question 4: Đáp án C

result in: dẫn tới

Tạm dịch: Phá rừng để lấy gỗ đã dẫn tới sự mất cân bằng sinh thái.

Question 5: Đáp án B
A. cost /kɒ:st/ (n): chi phí

B. standard /ˈstændəd/ (n): tiêu chuẩn

C. mode /məʊd/ (n): cách thức, phương thức
D. level /'levəl/ (n): mức độ
Question 6 Đáp án đúng là B “”

Trong mệnh đề trạng từ chỉ sự nhượng bộ, “despite" đứng trước một cụm danh từ. “They are ill-treated" là một mệnh đề, ta phải dùng “although/ though/ even though". 

Question 7: Đáp án: B

	opinion
	size
	age
	shape
	colour
	origin
	material
	Purpose

	intensive
	
	one-year
	
	
	English
	
	


Question 8: Đáp án:   A. cut out

- be cut out to do sth: phù hợp để làm gì/ cho việc gì

- Các cụm động từ còn lại không có cấu trúc với “be … to infinitive”.

Question 9: Đáp án A

Hành động đang xảy ra thì hành động khác xen vào trong quá khứ

Question 10: Đáp án A

Mệnh đề phụ chia hiện tại => MĐC chia tương lai

By the time + S + Vhtd, S2 + V(tương lai hoàn thành)

Question 11: D

A. make /meɪk/ (v): làm

C. have /hæv/ (v): có

D. meet /mi:t/ (v): gặp gỡ

Cụm từ: meet the demand for st: đáp ứng nhu cầu về cái gì

Tạm dịch: Sự bùng nổ dân số dường như vượt quá khả năng của Trái đất trong

việc đáp ứng nhu cầu về lương thực.

Question 12: Đáp án D

pick one's brain: hỏi, xin ý kiến ai về điều gì

Tạm dịch:Tôi có thể hỏi ý kiến bạn được không? Tôi không thể tự mình giải được ô

chữ này.

Question 13: Đáp án: C. was released

Đối với trường hợp chủ ngữ được thành lập từ: Danh từ 1 + giới từ + Danh từ 2, động từ hoà hợp với Danh từ 1. Trong câu đã cho, “amount” là danh từ số ít, nên động từ chia ở số ít. Câu có động từ chia ở thì quá khứ đơn, thể bị động. 

Question 14: Đáp án A: Seeing her from a distance

Câu sử dụng mệnh đề trạng ngữ được rút gọn; động từ của mệnh đề trạng ngữ ở thể chủ động nên khi rút gọn còn dạng V-ing. 

Question 15: Đáp án D: So sánh kép

Mark the letter A, B, C, or D to indicate the sentence that best completes each of the following exchanges.

Question 16: Đáp án B


Đáp án B: That’s so kind of you.

· Đáp án là cách đáp lại lời đề nghị giúp đỡ

· Các đáp án còn lại là cách đáp lại lời cảm ơn.

Question 17: Đáp án A: Can you give me details of what happened? 

· Đáp lại lời xin lỗi (I am so sorry) - (hỏi rõ chuyện như thế nào) 

· Câu trả lời tạm dịch là: Có thể cho tôi biết là chuyện gì đã xảy ra không? 

· Các câu còn lại không hợp về nghĩa.

Mark the letter A, B, C, or D to indicate the word that differs from the other three in the position of the primary stress in each of the following questions.

Question 18: A. engineer

B. etiquette

C. picturesque

D. cigarette


Câu trả lời đúng là: etiquette

Trọng âm của etiquette rơi vào âm thứ 1, các từ còn lại trọng âm vào âm thứ 3.

/ˌen.dʒɪˈnɪər/
/ˈet.ɪ.ket/

/ˌpɪk.tʃərˈesk/

/ˌsɪɡərˈet/ 

Question 19: A. sentence

B. suggest

C. species

D. system
A. sentence / ˈsentəns /: trọng âm rơi vào âm tiết thứ nhất vì theo quy tắc trọng âm không rơi vào âm /ə/.

B. suggest / səˈdʒest /: trọng âm rơi vào âm tiết thứ hai vì theo quy tắc trọng âm không rơi vào âm /ə/.

C. species / ˈspiːʃiːz /: trọng âm rơi vào âm tiết thứ nhất vì theo quy tắc trọng âm rơi vào nguyên âm dài /i:/.

D. system / ˈsɪstəm /: trọng âm rơi vào âm tiết thứ nhất vì theo quy tắc trọng âm không rơi vào âm /ə/.

=> Đáp án B trọng âm rơi vào âm tiết thứ hai, các phương án còn lại

trọng âm rơi vào âm tiết đầu.

Mark the letter A, B, C, or D to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

Question 20: A. reduced

B. addicted

C. distributed

D. deleted
Đáp án A

A. reduced /rɪˈdjuːst/

C. distributed /dɪˈstrɪbjuːtɪd/

B. addicted /əˈdɪktɪd/

D. deleted /dɪˈliːtɪd/
Question 21: A. promise

B. device

C. surprise

D. realize

Đáp án A: promise

Phần gạch dưới trong từ “promise” được đọc là /ɪ/: promise /ˈprɒmɪs/. Phần gạch dưới   trong các từ khác được đọc là /aɪ/:

device /dɪˈvaɪs/

surprise /səˈpraɪz/ 

realize /ˈrɪəlaɪz/
Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions. 

Question 22: Đáp án C

Longevity = life expectancy: tuổi thọ

Question 23: Đáp án B

Giải thích: deplorable (adj): tồi tệ, không thể chấp nhận được

respectable (adj): đáng kính trọng
unacceptable (adj): không thể chấp nhận được

mischievous (adj): tinh nghịch
satisfactory (adj): thỏa mãn, đạt yêu cầu

=> unacceptable = deplorable

Tạm dịch: Cách mà người bảo mẫu đối xử với những đứa trẻ đó là không thể chấp nhận được. Cô ấy phải bị trừng phạt vì những gì cô ấy đã làm.

Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Question 24: C

Giải thích: thinly (adv): một cách mỏng, ít

sparsely (adv): một cách thưa thớt, rải rác
greatly (adv): nhiều, lắm

densely (adv): một cách dày đặc, đông đúc
largely (adv): ở mức độ lớn, một phần lớn

=> thinly >< densely

Tạm dịch: Vùng miền núi của cả nước ít dân cư. Nó chỉ có 300 người.

Đáp án: C

Question 25: Đáp án B

Tạm dịch: Tôi không được biết về bữa tiệc sinh nhật họ sẽ tổ chức cho tôi vào tuần tới. Tôi rất biết ơn vì tất cả những nỗ lực của họ đế làm cho tôi cảm thấy hạnh phúc.

→ kept in the dark about: giữ bí mật, không được biết về điều gì

Xét các đáp án:

A. surprised /səˈpraɪzd/ (a): ngạc nhiên

B. aware of /əˈweərəv/ (a): có kiến thức, nhận thức về

C. oblivious to /əˈblɪviəs tə:/ (a): lãng quên
D. disappointed /ˌdɪsəˈpɔɪntɪd/ (a): làm thất vọng
Mark the letter A, B, C, or D to indicate the sentence that best combines each pair of sentences in the following questions.

Question 26: Đáp án C

Laura đã tập chơi nhạc cụ rất nhiều. Cô khó có thể cải thiện thành tích của mình. => Mối quan hệ nhượng bộ

A. Hầu như Laura đã luyện tập chơi nhạc cụ rất nhiều khi cô ấy có thể cải thiện thành tích của mình. => Mối quan hệ trước – sau => sai

B. Nếu Laura thực hành chơi nhạc cụ nhiều, cô ấy đã có thể biểu diễn tốt hơn nhiều. => Mối quan hệ nhượng bộ không thể chuyển thành câu điều kiện

C. Tuy nhiên Laura đã tập chơi nhạc cụ chết chóc nhiều, cô ấy khó có thể biểu diễn tốt hơn được nữa.

D. Ngay sau khi Laura thực hành chơi nhạc cụ nhiều, cô ấy có thể biểu diễn tốt hơn nhiều. => Sai nghĩa

Question 27: Đáp án D

John không thể tiễn em gái mình ở sân bay. Anh ấy đã bị bệnh nặng.

A. Em gái của John ước gì anh ấy không bị ốm nặng đến mức không thể tiễn cô ấy ra sân bay.

B. Miễn là John có thể tiễn em gái của anh ấy ở sân bay, anh ấy không thể bị ốm nặng.

C. Nếu John không bị ốm nặng, anh ấy có thể tiễn em gái của cô ấy ở sân bay. => sai loại đk (ngược HT dùng đk loại 2 chứ k phải loại 1)
D. Giá như John đừng ốm nặng để có thể tiễn em gái ra sân bay
Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the following questions.

Question 28: Đáp án: A 

Sửa ‘overlooked thành ‘often overlooks’. Câu này cần dùng hiện tại đơn để diễn tả thói quen. 

Question 29: Đáp án C 

Mary và Mark mời bố mẹ của họ đến thăm căn hộ mới của họ

His => their

Question 30: Đáp án C

Imaginable: có thể tưởng tượng

Imaginative: giàu trí tưởng tưởng, sáng tạo

Dịch nghĩa: Bạn cần phải sáng tạo hơn một chút nếu bạn muốn thu hút sự chú ý của họ
Mark the letter A, B, C, or D to indicate the sentence that is closest in meaning to each of the following questions.

Question 31: Đáp án:  C. He doesn’t have to go to school on Saturdays.

“not have to-infinitive” (không cần thiết) có nghĩa tương đương với “not necessary” (không cần thiết)

Tạm dịch câu gốc:  “Việc anh ấy đi tới trường vào thứ 7 là không cần thiết.”

- He doesn’t go to school on Saturdays.: Anh ấy không đi tới trường vào thứ 7.

- He won’t go to school on Saturdays.: Anh ấy sẽ không đi tới trường vào thứ 7.

- He doesn’t have to go to school on Saturdays.: Anh ấy không cần đi tới trường vào thứ 7. => cận nghĩa với câu đã cho.

- He couldn’t go to school on Saturdays.: Anh ấy không thể đi tới trường vào thứ 7.

Question 32: Đáp án đúng là:  C. Jack told Mary he had something for her birthday. 

Câu đã cho là một câu trực tiếp. Thì trong câu trực tiếp là thì hiện tại đơn, vì vậy, khi chuyển sang câu gián tiếp, dùng thì quá khứ đơn (had). Đại từ nhân xưng trong câu trực tiếp là I, đổi thành “he” (Jack) và tính từ sở hữu “your” đổi thành “her” (sinh nhật của Mary).  

Question 33: Đáp án B: “It is the first time I have seen a panda in person ” (Đây là lần đầu tiên tôi tận mắt thấy gấu trúc). Cấu trúc được sử dụng là It is the first time sb have done sth.  Câu được lựa chọn giữ đúng ý nghĩa của 2 câu cho trước.  
Read the following passage and mark the letter A, B, C, or D to indicate the correct word or phrase that best fits each the numbered blanks.

Question 34: Đáp án B
Another + N số ít

Some + N số nhiều /N không đếm được

Much + N không đếm được

Others = other + N

Emotions là danh từ số nhiều => chọn some

Question 35: 
Đáp án C
Kiến thức về từ vựng
Danh từ đứng trước chỉ vật, sau đại từ quan hệ là động từ => đại từ quan hệ làm chủ ngữ => chọn which
Question 36: 
A. forming
B. creating
C. having
D. showing

Đáp án A
Kiến thức về từ vựng
A. form (v): tạo lập
B. create (v): sáng tạo
C. have (v): có
D. show (v): chỉ ra
=> Cấu trúc: Have a good relationship with sb = get on (well) with sb = get along with sb = keep in with sb = keep on good terms with sb: có mối quan hệ tốt với ai
- form a relationship with sb: tạo lập mối quan hệ với ai
- begin to V/Ving: bắt đầu làm gì
Căn cứ vào nghĩa của câu sau: “When you enter the classroom on the first day, calmly reintroduce the teacher to your child, then step back to allow the teacher to begin (3)________________ a relationship with your child.”

(Vào ngày đầu tiên khi bạn vào lớp, bình tĩnh giới thiệu lại giáo viên với con bạn, sau đó quay ra để cho giáo viên bắt đầu thiết lập mối quan hệ với con bạn.)


Question 37: 
A. slowly
B. suddenly
C. leisurely
D. promptly

Đáp án D
Kiến thức về từ vựng
A. slowly /ˈsləʊli/ (adv): một cách chậm chạp
B. suddenly /ˈsʌdənli/ (adv): một cách đột ngột
C. leisurely /ˈleʒəli/ (adv): một cách thong thả
D. promptly /´prɔmptli/ (adv): mau lẹ, nhanh chóng
Căn cứ vào nghĩa của câu sau: “Always say a loving goodbye to your child, but once you do, leave (4)________________.”
(Luôn luôn nói lời tạm biệt đầy yêu thương với con của bạn, nhưng một khi đã làm vậy, hãy rời khỏi đó ngay lập tức.)
Question 5: Đáp án B
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Besides = furthermore: dùng để thêm ý

because: nối 2 ý đối lập

On the other hand: mặt khác

Rời đi mà không nói lời tạm biệt có thể làm cho trẻ em cảm thấy bị bỏ rơi. Trái lại, chia tay quá lâu có thể chỉ làm củng cố ý thức của một đứa trẻ rằng trường mầm non là một nơi tồi tệ.

Xét về nghĩa đáp án B hợp lí

Read the following passage and mark the letter A, B, C, or D to indicate the answer to each of the question.

Question 39: Which best serves as the title for the passage?


A. A question of data.
B. Alignment of minds.


C. Smart city’s supporters.
D. The same old route.

Đáp án A
Câu nào sau đây thích hợp nhất làm tiêu đề cho đoạn văn?
A. Một câu hỏi về dữ liệu
B. Sự sắp xếp về tâm trí
C. Những người ủng hộ thành phố thông minh
D. Tuyến cũ giống nhau
=> Suy ra từ nội dung toàn bài đọc, ta thấy đoạn văn đang đề cập đến việc các thành phố sử dụng cơ sở dữ liệu để hoạt động.

Question 40: According to paragraph 1, which statement is correct about the current situation for smart cities?


A. Smart cities promise technological convenience so high service fees are not a problem.


B. Dubai, Amsterdam and Hampton are among the cities advancing the title of “smart”.


C. There still exist many challenges for the institution and development of smart cities.


D. The already successful smart city in the world were the works of policy-makers.

Đáp án C
Theo đoạn 1, phát biểu nào là đúng về tình hình hiện tại của những thành phố thông minh?
A. Thành phố thông minh hứa hẹn sự tiện lợi về công nghệ nên phí dịch vụ cao không phải là vấn đề
B. Dubai, Amsterdam và Hampton là một trong những thành phố tiến lên danh hiệu “thông minh”
C. Vẫn còn tồn tại nhiều thách thức đối với thể chế và sự phát triển của các thành phố thông minh
D. Thành phố thông minh đã thành công trên thế giới là công trình của các nhà hoạch định chính sách
Căn cứ vào thông tin đoạn một:
But as with all public sector initiatives, smart city services need to be delivered as cost effectively as possible to minimise the taxpayer burden. Often, key decision makers are met with obstacles when it comes to deploying smart services, preventing smart cities initiatives from reaching their full potential - or worse, blocking them altogether.

(Nhưng như với tất cả các sáng kiến của khu vực công, dịch vụ thành phố thông minh cần được cung cấp với chi phí hiệu quả nhất có thể để giảm thiểu người nộp thuế gánh nặng. Thông thường, những người ra quyết định quan trọng gặp phải trở ngại khi triển khai dịch vụ thông minh, ngăn chặn các sáng kiến của thành phố thông minh phát huy hết tiềm năng của chúng - hoặc tệ hơn là ngăn chặn chúng hoàn toàn)
Question 41: The word “they” in paragraph 2 refers to _______.


A. environments
B. ecosystems
C. services
D. initiatives

Đáp án B
Từ “they” trong đoạn 2 đề cập đến _________.
A. môi trường
B. hệ sinh thái
C. dịch vụ
D. sáng kiến
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=> Từ “they” ở đây dùng để thay thế cho danh từ hệ sinh thái được nhắc tới trước đó.
Central to the functioning of most ‘normal’ city ecosystems is the underlying data they run on.

(Trọng tâm chức năng của hầu hết các hệ sinh thái thành phố bình thường là dữ liệu cơ bản mà chúng sử dụng để hoạt động.)


Question 42: According to paragraph 2, what is the matter that the author want to emphasise?


A. Human’s urge to share information.
B. The importance of data network.


C. The possibilities of tech disasters.
D. The caliber of artificial intelligence.

Đáp án B
Theo đoạn 2, vấn đề mà tác giả muốn nhấn mạnh là gì?
A. Sự thôi thúc của con người để chia sẻ thông tin
B. Tầm quan trọng của mạng dữ liệu
C. Các khả năng của thảm họa công nghệ
D. Tầm cỡ của trí tuệ nhân tạo
Căn cứ vào thông tin đoạn hai:
Central to the functioning of most ‘normal’ city ecosystems is the underlying data they run on. Regardless as to whether that data is stored on local servers or using cloud storage, when that data is fragmented or incomplete, identifying emerging trends for strategic planning and cost reduction becomes extremely difficult - and because of this, authorities have to adopt an entirely reactive approach.

(Trọng tâm chức năng của hầu hết các hệ sinh thái thành phố bình thường là dữ liệu cơ bản mà chúng sử dụng để hoạt động. Bất kể dữ liệu đó được lưu trữ trên máy chủ cục bộ hay sử dụng lưu trữ đám mây, khi dữ liệu đó bị phân mảnh hoặc không đầy đủ, việc xác định các xu hướng mới nổi để hoạch định chiến lược và giảm chi phí trở nên vô cùng khó khăn - và vì điều này, chính quyền phải chấp nhận một tiếp cận phản ứng hoàn toàn.)
Question 43: The word “elevated” in paragraph 3 can be replaced by ______.


A. demoted
B. controlled
C. dignified
D. upgraded

Đáp án D
Từ “elevated” trong đoạn 3 có thể được thay thế bằng ________.
A. giáng chức
B. kiểm soát
C. làm cho nghiêm túc
D. nâng cấp
Từ đồng nghĩa elevated (nâng lên) = upgrade
In this way, operations and services are elevated through the integration and connection of physical devices via IoT networks, ultimately transforming how a city runs.

(Theo cách này, các hoạt động và dịch vụ được nâng lên thông qua việc tích hợp và kết nối các thiết bị vật lý thông qua mạng IoT, cuối cùng biến đổi cách một thành phố vận hành.)
Read the following passage and mark the letter A, B, C, or D to indicate the answer to each of the question.

Question 44: Which best serves as the title for the passage?


A. How does photovoltaic energy work?


B. Can solar power shake up the energy market?


C. What are some solar panel types?


D. Advantages and disadvantages of solar energy.

Đáp án A
Câu nào sau đây thích hợp nhất làm tiêu đề cho đoạn văn?
A. Năng lượng quang điện hoạt động như thế nào?
B. Năng lượng mặt trời có thể làm rung chuyển thị trường năng lượng?
C. Một số loại pin năng lượng mặt trời là gì?
D. Ưu điểm và nhược điểm của năng lượng mặt trời
Căn cứ vào thông tin đoạn đầu:
Every day, the sun releases an enormous amount of energy, far more than the entire population consumes. Being that the sun is a sustainable, renewable, and inexhaustible source for generating electricity, not using it seems almost counter-intuitive, especially considering the social and environmental impacts of other forms of energy generation.

(Mỗi ngày, mặt trời giải phóng một lượng khổng lồ năng lượng, nhiều hơn nhiều so với toàn bộ dân số tiêu thụ. Mặt trời là nguồn năng lượng bền vững, có thể tái tạo và không cạn kiệt để tạo ra điện, không sử dụng nó dường như gần như phản trực giác, đặc biệt là xem xét các tác động xã hội và môi trường của các hình thức sản xuất năng lượng khác.)
Như vậy, đoạn văn đang nói về tiềm năng của năng lượng mặt trời nên có thể suy ra tiêu đề thích hợp nhất cho đoạn văn là “Năng lượng quang điện hoạt động như thế nào?”

Question 45: The word “viable” in paragraph 1 is closest in meaning to _______.


A. logical
B. thinkable
C. feasible
D. believable

Đáp án C
Từ “viable” trong đoạn 1 có nghĩa gần nhất với .
A. hợp lý
B. có thể nghĩ
C. khả thi
D. đáng tin
Từ đồng nghĩa viable (khả thi) = feasible
Once restricted to space stations and satellites, photovoltaics are now gaining popularity and becoming an increasingly viable option.

(Sau khi bị giới hạn ở các trạm vũ trụ và vệ tinh, hiện tượng quang điện hiện đang trở nên phổ biến và trở thành một lựa chọn ngày càng khả thi.)
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Question 46: According to paragraph 1, why is overlooking solar energy considered such a mistake?


A. The sunlight that reaches the ground consists of nearly 50 percent visible light in total.


B. Fossil fuels coal, petroleum, and natural gas are becoming more and more expensive.


C. Concurrent with an increase in solar panel efficiency, the cost of solar energy has fallen substantially.


D. The Sun bathes the Earth hourly with enough light to fulfill global needs for a whole year.

Đáp án D
Theo đoạn 1, tại sao không chú ý đến năng lượng mặt trời được coi là một sai lầm?
A. Ánh sáng mặt trời chiếu xuống mặt đất bao gồm gần 50% ánh sáng khả kiến
B. Nhiên liệu hóa thạch, than, dầu mỏ và khí đốt tự nhiên ngày càng trở nên đắt đỏ
C. Đồng thời với sự gia tăng hiệu quả của pin năng lượng mặt trời, chi phí năng lượng mặt trời đã giảm đáng kể
D. Mặt trời chiếu sáng cho Trái đất hàng giờ với đủ ánh sáng để đáp ứng nhu cầu toàn cầu trong cả năm
Căn cứ vào thông tin đoạn đầu:
Every day, the sun releases an enormous amount of energy, far more than the entire population consumes.

(Mỗi ngày, mặt trời giải phóng một lượng khổng lồ năng lượng, nhiều hơn nhiều so với toàn bộ dân số tiêu thụ.)


Question 47: The word “surplus” in paragraph 4 is closest in meaning to _______.


A. extra
B. backup
C. waste
D. unneeded

Đáp án A
Từ “surplus” trong đoạn 4 có nghĩa gần nhất với .
A. dư
B. dự phòng
C. chất thải
D. không cần thiết
Từ đồng nghĩa surplus (dư thừa) = extra
In some countries, it is even possible to sell surplus energy, making the building a power plant for neighbors and method of paying off the investment more quickly.

(Trong một số quốc gia, thậm chí có thể bán năng lượng dư thừa, biến tòa nhà thành một nhà máy điện cho quốc gia hàng xóm và phương thức thanh toán đầu tư nhanh hơn.)
Question 48: The word “it” in paragraph 3 refers to _____.


A. panel
B. electricity
C. inverter
D. surface

Đáp án B
Từ “it” trong đoạn 3 nói đến .
A. Tấm pin
B. điện
C. biến tần
D. bề mặt
Từ “it” ở đây dùng để thay thế cho danh từ điện được nhắc tới trước đó.
Importantly, photovoltaic solar panels produce electricity in the form of direct current, meaning the electricity must pass through an inverter to transform it into alternating current - which is what is normally used in buildings, appliances, sockets, and light bulbs.

(Điều quan trọng, các tấm pin mặt trời quang điện sản xuất điện dưới dạng dòng điện trực tiếp, có nghĩa là dòng điện phải đi qua một biến tần để biến nó thành dòng điện xoay chiều - đó là những gì thường được sử dụng trong các tòa nhà, thiết bị, ổ cắm và bóng đèn.)
Question 49: Which of the following statements is TRUE, according to the passage?


A. Solar energy has one limitation is that it cannot overcome geographical barriers.


B. A single photovoltaic panel is designed to be made of between 16 and 20 cells.


C. A solar inverter uses AC electricity from the solar system to create DC electricity.


D. Solar energy is a renewable, non-polluting and available planet-wide source.

Đáp án D
Phát biểu nào sau đây là đúng, theo đoạn văn?
A. Năng lượng mặt trời có một hạn chế là nó không thể vượt qua các rào cản địa lý.
B. Một bảng quang điện duy nhất được thiết kế để được tạo bởi từ 16 đến 20 ô
C. Một máy đổi điện năng lượng mặt trời sử dụng dòng điện xoay chiều từ hệ thống năng lượng mặt trời để tạo ra dòng điện một chiều
D. Năng lượng mặt trời là nguồn năng lượng tái tạo, không gây ô nhiễm và có sẵn trên toàn hành tinh
Căn cứ vào thông tin đoạn đầu:
Being that the sun is a sustainable, renewable, and inexhaustible source for generating electricity, not using it seems almost counter-intuitive, especially considering the social and environmental impacts of other forms of energy generation.

(Mặt trời là nguồn năng lượng bền vững, có thể tái tạo và không cạn kiệt để tạo ra điện, không sử dụng nó dường như gần như phản trực giác, đặc biệt là khi xem xét các tác động xã hội và môi trường của các hình thức sản xuất năng lượng khác.)
Question 50: Which of the following can be inferred from the passage?


A. Over the next decade, solar panels will be installed almost ubiquitously across urban areas.


B. The rapid proliferation of solar power globally has led to growth in several related areas.


C. Solar energy offers many benefits that make it one of the most promising energy forms.


D. Solar energy is an emerging principle that has recently been developed by scientists.

Đáp án C
Điều nào sau đây có thể được suy ra từ đoạn văn?
A. Trong thập kỷ tới, các tấm pin mặt trời sẽ được lắp đặt gần như khắp nơi trong các khu vực đô thị
B. Sự phát triển nhanh chóng của năng lượng mặt trời trên toàn cầu đã dẫn đến sự tăng trưởng trong một số lĩnh vực liên quan
C. Năng lượng mặt trời mang lại nhiều lợi ích khiến nó trở thành một trong những dạng năng lượng hứa hẹn nhất
D. Năng lượng mặt trời là một nguyên lý mới nổi gần đây đã được các nhà khoa học phát triển
Căn cứ vào thông tin đoạn đầu:
Once restricted to space stations and satellites, photovoltaics are now gaining popularity and becoming an increasingly viable option.

(Sau khi bị giới hạn ở các trạm vũ trụ và vệ tinh, hiện tượng quang điện hiện đang trở nên phổ biến và trở thành một lựa chọn ngày càng khả thi.)
Being that the sun is a sustainable, renewable, and inexhaustible source for generating electricity, not using it seems almost counter-intuitive, especially considering the social and environmental impacts of other forms of energy generation.

(Mặt trời là nguồn năng lượng bền vững, có thể tái tạo và không cạn kiệt để tạo ra điện, không sử dụng nó dường như gần như phản trực giác, đặc biệt là khi xem xét các tác động xã hội và môi trường của các hình thức sản xuất năng lượng khác.)
